B FH
HWEEE HwEsE R5
B#9SDGsh BiE FAER
: 2AEE 1% LA FHELE =
A EERTE + 3 X B I i
- 27,900 |[X B & 32 E
A ESIEEE
FEERTE + 3 X B I8 i
41,807 |X EEEIREE
X B
. . | BALEBL REER }
13 1£% - HEHEK _ 83,914 |X B = ER
: B A EX R
FE O YHEESE 713
I EHEIER
T EHEIHEER T 20,412
/\ﬁ . L%ﬁ‘*igf—'&
NE EEREERE 159,007
==
NE - BEEEREEE
13,517
ES5LYPTVELEAEIS ==
HHEE  BRENE .
(#7B RN E) 14 A - - 28 |[griess 12,736 | Bt EIE
L ske i - B EE 47,445
il Bt - B LBEEE 1375
=i A S HE s
15 y B 75 s BRIBEARSHEIHEEEE 20,919|31=8
S DA
NEMREZE 2, 720|158
FHERFREEE 2,458 |#B I EtEER
18 BRREOVRE
HMRERESE 2,632 | B BGE
TR 14,400
EEREHESEE 9,180
EXoBhrand (EXE )
an = a SN g s
= E4E) 20 BEDIRE BEZELER 10,190| 2 BGE
BERBEIIESE 5,744
=] /—Erh“ £ T
BRI EESE 13,048
E
WO BB EITBIRES | 30 THEERE BiARRREE 1,735\ R &R
Ao b (TREBE - 1T
BENET) 32 BBUEE 3B E L INMEERER | 333,702 A SBUERE

825,554




